Quiz 1 topic Reminder
| understand the value of K and can generate an equilibrium expression

A(aq) + Bf{s} &> 2C(g)

1. Write the equilibrium expressmn
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the reaction products.
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2. Ina2Lridged vessel, 0.2M A and solid B are added. Since the reaction is slightly product
favored, draw a graph below and ridged container representing the reaction at equilibrium.
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In the vessels below, match the letter of the description

Reaction gone to completion.

Reactant favored
Product favored.

Not a possible set of products.

X 2Y

Initial

A
=
§
Y
nto

?CC}Z’ G ﬁ?; f;%)&

4 Tupd makt fuit  goep

o€ A,

the sample accurately describing

[
¥ x
X
X
x
x Y
\. /
’ S
X % A
¥ YYYYY
¥, Y
XYY YyYY
Y v YY\{YYY
x Y Y .
O I\

{(__ possible products D



